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Run 6110 quartetwise, PosHelAccd
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Mean: -0.0004 «/- 00015
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Run 6110 quartetwise, Asyms D5bg2
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=== Laser O -—-
Entries: 67813
Mean: 00022 «- 0.0003
Sid Dev: 00714 & 00002
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Entries: 53315
Mean: 0008 +- 0.0003
Sid Dev: 00718 &~ 00002
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Run 8110 gquartetwize, posHE vs time
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Run 8110 guartetwize, diffl ve time

Run 6110 guartetwize, negHO vs time
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Run 6110 guartetwize, summ vs time
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Run 6110 quartetwise, posH4 vs time
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Run 8110 guartetwize, posH4 vs time

Iflil iy

!:._|
-

LT

VEUE b G Wi

20 4

]
ey
=L

& [ TH 1&0 1?0 140 1EQ 180 200 23 240
Entry%

Run 8110 guartetwize, diffd ve time

* S e, A I . G -

=
]
=
o
=

=
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Run 8110 guartetwize, summd vs time
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Run 6110 quartetwise, posH4 vs time
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